m 1= fls[r_, tt , ff ] := (1 /Sqrt[Pi]) Exp[-r]
fas[r_, tt_, ff ] := (1/Sqrt[32Pi]) (2-r) Exp[-r/2]
f2px[r_, tt_, ff ] := (1/Sqrt[32Pi]) rExp[-r/2] Sin[tt] Cos[ff]

f3s[r , tt , ff ] := (1/(81$qrt[3 P'i])) (27 -18 r+2 r72) Exp[-r /3]

in[ = flsc = TransformedField ["Spherical" » "Cartesian",
fis([r, tt, ff], {r, tt, ff} > {x, vy, z}]

In[ = Plot3D[flsc[x, ¥y, 0], {x, -2, 2}, {y, -2, 2}]

nl-1= Plot3D[f2pxc[x, y, @],
{Xa -3., 5'}, {y, -5, 5}]
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in[ = SphericalPlot3D|
(fls[1, tt, ff], f2s[1, tt, ff],
f3s[1, tt, ff]}, {tt, 0, Pi},
{ff, -0.75Pi, 0.75P1i}, PlotRange - Full] ,,

wls -0.1
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